

Einfache Bruchrechnungen

Name: _____

Bringe zuerst auf gleichen Nenner, rechne aus und ev. kürzen

Nebenrechnungen

Lösungen

$$\frac{1}{3} - \frac{1}{4} = \frac{4}{12} - \frac{3}{12} = \frac{1}{12} \quad \underline{\hspace{2cm}}$$

$$\frac{8}{15}$$

$$\frac{1}{3} - \frac{2}{8} = \frac{\quad}{24} - \frac{\quad}{24} = \frac{\quad}{24} \quad \underline{\hspace{2cm}}$$

$$\frac{1}{12}$$

$$\frac{4}{3} - \frac{4}{5} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{5}{12}$$

$$\frac{2}{3} - \frac{1}{4} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{8}{21}$$

$$\frac{2}{3} - \frac{1}{8} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{10}{63}$$

$$\frac{5}{8} - \frac{2}{5} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{13}{24}$$

$$\frac{5}{7} - \frac{1}{3} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{17}{40}$$

$$\frac{2}{3} - \frac{3}{5} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{1}{15}$$

$$\frac{4}{5} - \frac{3}{8} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{1}{12}$$

$$\frac{8}{9} - \frac{4}{6} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{9}{40}$$

$$\frac{5}{12} - \frac{1}{5} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{13}{60}$$

$$\frac{4}{9} - \frac{2}{7} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{2}{9}$$

$$\frac{6}{7} - \frac{3}{4} = \frac{\quad}{\quad} - \frac{\quad}{\quad} = \frac{\quad}{\quad} = \frac{\quad}{\quad} \quad \underline{\hspace{2cm}}$$

$$\frac{3}{28}$$